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end —if - random - 2L, — while
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while True:
print(“Rabizadeh”)
€9 = aS Y Cgs» 1obS Cusu Bl

Qgsw.Rabizadeh OF gl Ay jelaien 8, S £g,h A e jg,m 905, Enter ooljam, Bl
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L 00,5 Ko jg,m dapd oo a5 pidigl B 5l il 4 o8 (5,5 4 plez o Yo» 1S Codu GBI ol g,
Copm Yo alls (o (hg5 o)l ) oo o5 404

while hang()!="yes":
print(“Bakhit”)
ols aalsl 515 4 0,55 Sis s 0i5 "YeS" solue ONANG Jlaie 85 b g m g
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While hang()!="yes":
print(‘Rabizadeh”,end="")
00lian; ST pasl 5l 0l dun e jg,0 dzhio 5 € day Jas o) oo 400 gl Hetws (ol b Yo»-
€CaS Olr gy Ose S el po; DogarmetS 6B 4 Lo (S o0 LI D> ak 4 Sildes 55 (Jor-
(S IMPOIt Wb oo o, pou, turtle )
importrandom
while hang()!="yes":
rand = random.randint(\,Y)
if rand==1\:
print(“Bakhit”)



if rand!=\:
print(“Rabizadeh”)
€ G Ay s 93 (590 Le—
ifrand<+and rand==+:
print(“Rabizadeh)
0090 Goluo o8+ 5 yiSzsS o2 a0l 45 (59l AQRARARASY S oSy (U]
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ifrand<e+ orrand==e:
print(“Bakhit”)
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ifrand<=e:
print(“Rabizadeh”)
Sz og0 180 byl aSIY L 5elgS Jgadgl fgen o9 (b
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else:
print(“RazeghiYY”)
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ifrand>=-«:
print(“Bakhit”)
ifnotrand>=e«:
print(“Rabizadeh”)
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ifrand>e:
print(‘Bakhit”)
else:
print(‘Rabizadeh”,end="")
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